Aryan Agarwal

Founder and CEO
CVPS INTEGRATED STAR COURSE

JEE

MAIN

2025

From Meerut

JAN
22

SHIFT
Iind




J_ JEE MAIN 2025 > ive PAPER DISCUSSION

#Q. If 2x* + (cos@)x —1 = 0,0 € [0,2r] has roots a and B. Then the sum of
maximum and minimum value of a* + g% is
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— Ans. (A)
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#Q. If 8 € [0,2m] satisfying the system of equation 2sin“0 = cos 26 20 and
2c0s*0= 3 sin 0. Then the sum
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#Q.
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Let A ={1,2,3,4} and B = {1,4,9,16}, /é

If f:A - B, then number of many-one function from A to B are
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#Q. 4 boys and 3 girls are to be seated in arow such that all girls seat
together and two particular boys B; and B, are not adjacent to each other. Then
the number of ways in which this arrangement\? be done
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#Q. If the sum );
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= a.2%?, then ais equal to
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#Q. Let A ={1,2,3} then the number of relations on A which consist of
ordered pair (1,2) & (2,3) and must be reflexive and transitive but not symmetric
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#Q. Let d and b be two unit vectors such that angle between a and bis g If
Ad +3band 2d+ Ab are perpendicular to each other, then the product of all

possible value of 1 is \q _\_,59 (25?4_%'2):_0
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#Q. Consider a function f(x) = f dt. The number of points of extrema
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#Q. Let A and B are two events such that PANB) = — and P(A/B) and
P(B/A) are the roots of the equatlon(lzx —7x ﬂthen P(AUB) ; Is equal to

(P\n > —_ (AnB)
=L fy=2 [(Ang) _1-favg)
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a,+a,+% + - —+%,, = Yo

Q,+0; st — A= S E
i nd=—IS
#Q. Number of terms in an arithmetic progression is an arithmetic progression
IS 2n. Sum of terms occurring at even places is 40 and sum of terms occurring at
odd places is 55. If the first term exceeds the last term by 27, then
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Nn—2
Z@JJ (o) A)= (7] @/
#Q. If Ais the 3 x 3 matrix of order 3 X 3, such that det(A)= % and

be another matrix of order 3 x 3 and defined as B = adj(adj(2A)), then det
(B)+tr(B) is equal to (where tr(A) denotes trace of matrix A)
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#Q. Iftx +y+2z =§2x +3y+az=a+1 &(—x — 3y + bz =@has infinitely

many solution then 7a+3b=? —/y -—/L30:
“RA (b)) 2 =2 L+¢
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#Q. In the expansion of (x +Vax3 — ) + (x — Va3 — ) where a, 8,y and &

are the coefficients of x x3 x and x respectively. If au — v = 18 and yu + év =

20, theno+Vis equal to
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Ans. (A)
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#Q. Let A (6,8), B(10 cosa,—10 sin ) and C(—10 sina, —10cosa) be 3 points and
if orthocenter of the triangle ABC is (0,9), then 100sin*«a is equal to
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#Q. If zbe acomplex number such thatﬂz — 3] sgthen equation of the line
with largest slope passing through origin angz
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#Q. fex {Slnz);c/z > gx) +c Fln

jéﬂbﬁ(x}% )= €0
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#Q. Perpendicular distance from the point P(—2,0,2) to the
line L = 271 _ 243 _ 2 LO-1C )+2(5)
2 2
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*+6 -2k @

#Q. If the mean deviation about median for the number 3,5,7 2k 12 16,21,24,
arranged in ascending order is 6 then the median is

G np = EDrE4) T K+ (=01
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R (2,1, J 0D 5 =g =13

#Q. Let P(1O -2, 1) nd Q be the point of perpendicular drawn from point
R(1, 7, 6) on the linejoining the points (2,—5,11) and (—6,7,—5). Then the length
PQ s i

H—2 F+ 3 =z —\|
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Q e Ans.(lB)/
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#Q. Find the area bounded between these curves
y=(x—2)?and y* =16 — 8x is

OO0 O

Ans. (8/3)
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#Q.  If lim ((L) (1 _ L))x _ @ Find @

x—oo \\1-e/ \e 1+x 1+lna

Ans, e

OO0 O

CVPS INTEGRATED STAR COURSE MEERUT FOR MORE DETAILS, CONTACT +91 9997000558



9 JEE MAIN 2025 » uve PAPER DISCUSSION

CVPS INTEGRATED STAR COURSE MEERUT FOR MORE DETAILS, CONTACT +91 9997000558



	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15
	Slide 16
	Slide 17
	Slide 18
	Slide 19
	Slide 20
	Slide 21
	Slide 22
	Slide 23
	Slide 24
	Slide 25
	Slide 26
	Slide 27
	Slide 28
	Slide 29
	Slide 30
	Slide 31
	Slide 32
	Slide 33
	Slide 34
	Slide 35
	Slide 36
	Slide 37
	Slide 38
	Slide 39
	Slide 40
	Slide 41
	Slide 42
	Slide 43

